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Q.11f in the word BEAUTIFUL, the
letters at the odd positions are
succeeded by its next letter
according to the alphabetical series
(starting from the left end of the
word), then how many vowels are
there in the newly formed word?
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Eight friends, A, B, C, D, E, F, G and H, are seated around a circular
table, facing towards the centre. They like to visit different
supermarkets for groceries shopping, viz. Big Bazaar, More, Spar,
but not necessarily in the same order. At least two but not more than
three people like to visit the same place.

A, who likes Big Bazaar, sits third to the right of H, who likes Spar. F
sits second to the left of G. D doesn't like to visit the More
supermarket. C visits Big Bazaar and faces D, who sits second to the
left of A. E sits second to the right of G, both E and G visit to Spar
Supermarket. One of the two people who like to visit More
supermarket is seated next to the one who likes to visit Big Bazaar.
s =, A, B, C, D, E, F, G 3T H, Ts TATRTL AT o I 3ATT g ol
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Eight friends, A, B, C, D, E, F, G and
H, are seated around a circular table,
facing towards the centre. They like
to visit different supermarkets for
groceries shopping, viz. Big Bazaar,
More, Spar, but not necessarily in the
same order. At least two but not
more than three people like to visit
the same place.

A, who likes Big Bazaar, sits third to
the right of H, who likes Spar. F sits
second to the left of G. D doesn't like
to visit the More supermarket. C
visits Big Bazaar and faces D. who



Q.2 Who among the following is seated immediate right of B?

Meeerd § ® 9 B & 3% a10 da7 872

(1.A (2.H (3).C (4.D (5).E

Q.3 Which of the following statement is true based on the given
information?

&l TS STTHeRTLT o ST 92 Aeteried § § Sl 97 w99 97 g7

(1). Both F and B like to visit More supermarket./F 3% B a1 =l
AT FITHTDE AT T9< gl

(2). Neither A nor G is an immediate neighbour of C./9 aT A 3T 7
gt G, C &7 fAsheaqw g=THT 2l

(3). D likes to visit Spar./D &l TITZ S[TAT T8< gl

(4). B is facing F./B, F & 7+@ 2|

(5). D sits third to the right of G./D, G & a1 § d1H< T 9T <7 2




Q.4 In which position is H seated with respect

to G?

G % dvad H H o8 1= 9T 937 872

(1). Third to the right/ T2 3T dHX

(2). Fourth to the right/ &T2 3T 19T

(3). Fourth to the left/ T T =T

(4). Both (2) and (3) /a1 (2) 31T (3)

(5). Either (1) or (2)/ =T aT (1) =T (2)

Q.5 How many people are seated between A
and E, when counted anti-clockwise from E?
E & ar¥Tad <9 T WAt & 9 A 3T E & o=
fehee AT oS 57

(1). 2

(2). 3

(3). 4

(4 §5




Q.6 In the word MYSTERIOUS, if the 1st, 3d 4th
6t and 9" |etters are taken, then a meaningful
word is formed using each letter once. What is
the third letter from left end in that newly formed
word. If no word is formed mark J, and if more
than one word is formed, mark Y.

MYSTERIOUS 9Tsg | I Ugel, qIH<, AT, o 31T

qTa T [ ToldT STTU a1 T &L FT Teh 91 T

Feh Tk T 9

a0 ZT o A9

& IFTAT ATAT gl 39 T 9ea H
HAT FIT T g2 T Fls 9061 gl

AT g ar J {Teha e 3T T THh § T8 906 a1 &

ar Y (feha vl
(1). J

(D V



In the question given below, two statements are given followed by
conclusions: | and Il. You have to take the given statements to be
true even if they seem to be at variance from commonly known
facts. Read the conclusions and decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

1= QU T 9o |, &7 RAT 3T I A72 [ QU T 2 | 3T [ rT=hr
T 7T AT T G HIAAT @, Al of o qTHA: 0 a2 o (9 I
2l gi| THoRel T 9 3fT a7 &< o QU T [Wohei § § hid 97 9
AT TSAT T ASTLCHASTS HiLd gU QU T FAAT T ATieheh € F ST
AT 2l

Q.7
Statements:

Only a few
robots are summers.

NA reahnt ic n AL



\In the question given below, two statements are given followed by
conclusions: | and Il. You have to take the given statements to be true
even if they seem to be at variance from commonly known facts.

Read the conclusions and decide which of the given conclusions

ogically follows from the given statements disregarding commonly

Known facts.
T QU T I H, T7 A 3T 39 913 (oY QU 7T g | 37T [ It

N S N~ o =~
TS0 T AT &l G /AT &, Aol gt & A A0 a2 § 19 Id1d 3l
2l TSRSt &l T 3T qF &< o QU 0 Qo § § ST 97 91 374
AT T TSTLHAETS d gU [QU T KT T qTieheh 9 & SATHLIT LT

Q.8
Statements:

Only a few
mountains are high.

Only a few

tons are hiah.



\Directions : There are five 3-digit numbers as given below:

fRorT-A<er: A= [T 7T AT 90 19 3Rl hl HEATU &

456 784 674 569 457

Q.9 If first & third digits of all the numbers are interchanged,
which of the following number will be second highest after
the rearrangement?

Tte gl ST o g8l 3T 19 3 &l UG § Faf [<AT S0,
JT AT & aTe (Aeferted § | Sl | &7 ga<t 9499 a8
T g2
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row facing north. Information about only some of them is
known. Q is 16t to the right of X. Three people are seated
between Z and Q where Z is to the right of Q. Four people
are seated between Z and W where W Is seated at the end
and adjacent to S. 9 people are seated between U and S. R
is seated third to the left of U. Only two people are seated
between Y and R. Three people are seated between Y and P

where P Is not seated adjacent to R.

Number of people

seated between V and P is same as the number of people
seated between U and Z. V is seated at the end

fRerT-faQer: Mtsra e & o3 sm?ﬁ@‘{@@ Fleh Ueh et gixh

Hd5 A TAH F Fwg h A H Bl o1|~1°h|<

3qTe 8. Q, X & I3 AT

16 o ¥ q<%| Z AT Q = &1 19

VT 96 2, Sal Z, Q& 21
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\”“\;Directions : Certain number of people were seated in a linear row
facing north. Information about only some of them is known. Q is
16t to the right of X. Three people are seated between Z and Q
where Z is to the right of Q. Four people are seated between Z and
W where W is seated at the end and adjacent to S. 9 people are
seated between U and S. R is seated third to the left of U. Only two
people are seated between Y and R. Three people are seated
between Y and P where P is not seated adjacent to R. Number of

people seated between V and P is same as the number of people
seated between U and Z. V is seated at the end.



Q.10 How many people were seated in th

row?

U<k ¥ Tohdd i<k a6 9?

(1).24 (2).27 (3).23 (4). 28 (5). 2€
Q.11 How many people were seated
between P and Q7?

P 3T Q & == fohdel T o6 U?

(1). 10 (2). 11 (3).12 (4).13 (5). 14
Q.12 How many people were seated to tr
left of Y?

Y F 9T 3T Tohd e AT o6 A?

(1). 10 (2). 11 (3).12 (4).13 (5). 14
Q.13 How many people were seated
hetween O) and \\/?




Directions : Sixjars-A, B, C,D, E
and F had different litters of water.
D had three litres of water. Only
two jars had more water than A.
The jar which had the second-
highest number of litres is seven.
Three jars had more waters than C
but less than E. F had more water
than D but less than B. The jar
which had one litre is the least.
=9l Y8 I - T, &1, 9T, =1, 5 3l
UF H A-TAT AL 91T ATI D %
q‘l‘ﬁf?ﬁj\?ﬁ?{j‘rﬁ sl o q:l v(l\l(ﬁ'

o\




N Q.14 Which jar had third least litres of water?

e ST | T 9ad &l o 12X arT 772

(1). B (2).C (3).D (4).F (5).E

Q.15 If A+B=15 litres, then what is the possible litres of

water in jar F?

Tta A+B=15 sfie, 91 SITX F § HATET St ITt fohaar g7

Q)1 8lHers mady Pitetsad (Porsliess of Mateithiead 1D or (3)

ct ledbensh) BP (2)

gﬁﬁmﬁ ST g 5\ H D ¥ (i ek E ¥ 7 st 914t
"

(1). Two (2). One (3). None (4). Three (5). More

than three




Directions : Nine members -
A B CDEF G Handl
of a family consists of three
generations. There were only
four females in the family. C
is niece of A. D is married to
the only sibling of A. H is
daughter-in-law of C, who is
married to E. | is the
daughter of E. G is son of B.
F<eT: U GIare & A1 gaed] -
A,B,C,D,E,F,G H3XI¥H
Eﬁ‘rrtﬁ'%‘e?lTQlllei %’l Treae o

dndrvl == e J.Ilc-'rvllll S‘H'I(‘ Aﬁ




Q.17 How is E is related to B?

E, B & foh® I gaterd g2

(1). Son (2). Uncle (3). Son-in-law (4). Brother-in-law

(5). Father-in-law

Q.18 If | is married to K, then how K is related to F?

afe | 7 AT KA g g, AK, F
(1). Brother (2). Father-in-law
(5). Brother-in-law

g Gaiad g7
(3). Son-in-law (4). Uncle



Eight persons P, Q, R, S, T, U,
V, and W are seated around a
square table, with two persons
on each side. All are facing the
centre. U Is an immediate
neighbour of Q. T sits exactly
opposite to P, who sits second
to the right of R. P sits second
to the left of W, who sits exactly
opposite to V

31|¢o&||(\wP QRS TU, V 3T
W T OI*IIOhI( ST o v||<| @Té%‘

g, ToTHeh T d<® al =i<h gl
T T Tr T A= o= Il N T




Q.19 Who sits third to the right of W?

W o 73 § 19 T 92 Fid 937 57

(1).U (2).R (3). T (4).V (5). None of the
above

Q.20 How many people are seated between
R and S, when counted anti-clockwise from
R?

?ﬁqmlqd féFQTTffﬁ_v'l?ﬁow:l qT R 3T SH
= Toha e AT &5 %”?

(1). 3 (2). (3). 1 4). 0
(5). 4

Q.21 Who sits third to the right of V?

V % T | 8L T 9T FlF §o7 872

(1).R (2).Q ((3).W (4).S (5).
None of the above







